Ochkov2023 Fig.14 | could not reproduce the solution obtained by roots() shown in the book. The SMath file from

the official materials page neither shows a solution.
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Conversion to vector of residuals (this is also done internally in the NR procedure)
N := NormRes (Eq)
Ochkov's Mathcad solution Residuals
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Solution with Kraska's implementation of Newtons method
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y[XL;a;XOL;hL)zzm y[XR;a;XOR;hR]ZSm

y[xM,- a; X, i hL]=1,5073m y[XM; a; Xyp; hR]=1,5073m
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2 2
J‘J]'—'—y’[X;a;XOL] dX—{—\J’.A}/l—F[y'[X;a;XOR]] dx=12,001m
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y1l := augment

yZ2 := augment

y3 := augment

v4 := augment
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Fyi=a.m g _=62,0951N F(x):=F_ .[if x<x, F(x):JF 2_|_F (X)z
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